" g ] REVISIONS
MAX 16-2" WIDE 18'-0" HIGH ;
REV. NO.| ZONE: | DATE: ECN MO, | APPVD: DESCRIPTION
HORIZONTAL TRACK END HANGER BRACKET
/i, (SUPPLIED BY DOOR INSTALLER) CLOSES 09 - 05,2005 - MWW UPDATED CODE REF., SPECIFIED OPTIONAL ACRLYIC.
ROLLER CHANNEL. INTERMEDIATE HANGER REQ'D 10 - 11,/2005 - - ADDED OPTIONAL MYLOM TIRE ROLLER
FOR DDORS IF HORIZONTAL TRACK DEFLECTIDN
EXCEEDS 1/240TH OF DOOR HEIGHT 11 - 11,/2008 - - ADDED MPC, WELDED JAMB ATTACHMENT,
i - 012 - - UPDATED WINDCODE CHART
D [omE: oovsLe TRack Lowl/ /1 MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) . L
bRt A e NN N MODELS 524, 520/ 224/ CAST. COST N N 7 N R £
AND VERTICAL LIFT TRACK / C INSULATED MODELS 5245, 520S, 524v/ 2245/ 14 - 06/2013 - i REMOVED ACRYLIC/WIRE GLAZING OQPTION. SPECIFIED FV DIMENSIONS.
ARE AVAILABLE OPTIONS, %@ C435, COSS5, C435v 15 = 08/2016 - - REMOVED WIND SPEED TABLE.
3" TRACK ALSO AVAILABLE. / I
| \ SECIE%S- ?EE ADJUSTABLE TOP ROLLER BRACKET
GALV STEEL TRACK | THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE ! OF 12 GA. GALV. STEEL, INSTALLED
el S o roRneD o I sl
HORIZINTAL - 14 GA MIK. | \MPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS MIN. HOT DIPPED p SHEET METAL SCREWS
REGIONS (REF. CHAPTER 16 FBC/IBC) GALWVANIZING, g SECMEDALL LONG S TEM: SIEFL
ROLL FORMED f ROLLER WITH STEEL OR NYLON
GALWANIZED STEEL STEEL. HRE
TRACK SECTIONS wne |MUMBER OF
I VERTICAL - 060 MIN DOORHEIGET "0 | cepTion # # # ONE 4° 16GA. C-CHANNEL PER
OPENING UP TO 8-0" 4 # - o h DDOR SECTION. (1 1/4° X 374"
HEIGHT ] VERTICAL TRACK CAN BE -3 THRU 10°-0° 5 i SELF TAPPING SCREW PER
} EITHER BRACKET MOUNT, 10°-3" THRU 12'-0" 6 53 Max ——| 44" TYP ——|=— 44" TP |___53- MAX ——]| i STILE. (SEE WIEW "D73
CONTINUOUS ANGLE OR 18,_3. THRU 14,_u. 7 OPTIONAL ALUMINUM FULL VISIOM WINDOW LITE SECTIONS AVAILABLE
C f REVERSE ANGLE TRACK. gL L 8 (1/8" DSB). FULL WISION SECTIONS TO HAVE 2° X 2 X 1/4" L—ANGLE
£ ALL TRACK BRACKETS AND 16°'-3" THRU 18'-0" 9 HORIZONTAL REINFORCEMENT. L—ANGLES ATTACHED TO THE REINFORCING
I TYPICAL TRACK CLIPS ARE 12 GA, 18'-3" THRU 20'-0" 10 RIB WITH 4" Eit 6" PUFFESET $LﬁTés], .a.IF E_VERYS;E![‘:IGEE Loacglnjusn Arsu 'iuk% . \_
24° GALV. STEEL. BRACKETS AND = CENTER OF EACH PANEL WITH (2} 1/4° X HEX AR, F F4"WIDE X 16 GA, GALV.
| CTR-CIR | CLIPS ARE ATTACHED TO TRACK MAX, SECTION HEIGHT: 24 I_Ji—l ::: DOUBLE END ?SflRHF‘" £5> PER DOOR SECTIOM.
it WITH EITHER TWO 1/4" RIVETS . I — : [ / STILES EACH STR&P ATTACHED WITH ¢33
A T T OR ONE 1/4" BOLT. 47 x T%N?»Pgﬁcsﬁfgh — 1/4" ¥ 3/4° SELF TAPPING SCREWS.
= = SEE SECTION 1-1 FOR DPTIOMAL INSULATION _/ TWD SCREWS TO DDDR, ONE SCREW
STAND ﬁﬁ[;fe IFT TRAC MOUNTING DETAILS. I (SEE MODEL EXPLANATIONY — [ TO C-CHAMNEL.
= ful & |
—’ L K DETAILS #F14x5/8" SHEET METAL SCREWS : L ' J'\.]g
SECTION P2 : l o END HINGES OF MIN.
R 2 > 14 GA. GALV. STEEL, FASTENED WITH
16 GA. MIN. GALV. OR PAINTED END STILE, FASTENED S - DPTIONAL 24° = & Seshig it i LU 54:RE".ISE
oL 3 - %3/ 4" SELF a ol o NAL 24° » 67 AND (2) 1/4"x3/4" SELF-TAPPING SCREWS.
TO DOOR SKIN WITH TOG-L-LOC-SYSTEM. =
HPPIE ol SommEe L
18 GA. MIN. GALV. DSB DR 1#8" ACRYLIC _ 1 "
INTERMEDIATE STILE 14_GA_INTERMEDWTE HiN WINDOW LITES AVAILABLE. -] l’“ e

FASTENED TO DOOR
SKIN WITH TOG-L—-LOC

| ¥

i SYSTEM.
et

SCREWS.

—] H
THE MAXIMUM OMN-CENTER DISTANCE.
HIGH AS THE DOOR OPENING.

/E 1
14 GA, GALV.

CENTER HINGE
FASTENED WITH
(4) §14x5,/8"
SHEET METAL

; FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF

HIGHEST ANCHOR INSTALLED AT LEAST AS

l
ATTACH ON HINGE AS SHGWN
(4) Hl4 X 5/8° LG SHT, MIL.

WITH (42 174" X SAE'SHEET MCTAL SCREWS

ATTACH OM EACH HINGE AS SHOWN [

316" MIN,
STEEL JAMB

CONCRETE, BUT

N

\_ TWO POINT
LOCKING REQ'D

MOT REQUIRED.

1,871 LONG

FILLET WELD (EGOXX

ELECTRODE MIN.), WELD

TO BE LOCATED VERTICALLY
ANGLE 4"

12 GA GALV, REVERSE
OR COMTINUOUS ANGLE
MOUNT TRACK FASTENED

WELD TOE OF ANGLE AT
SAME SPACING.
DIRECTLY TO STEEL JAMB.

i |

MAX. DDOR WIDTH: 1&6-2* .
MUMBER OF |NUMBER OF /i\.
DOOR WIDTH CENTER |C-CHANNEL
STILES STRAPS &
12°-3" THRU 13'-2° z 4
13'-3" THRU 16°-2° 3 s

WOOD JAMB OM COMCRETE

2,000 PSI MIN
CONCRETE

308" DIA, w1127
MIN, EMBED SLEEVE

207 MAX, O.C,
TO SECURE 2x5 JAMB
TO CONCRETE.
C'SINK W NEEDED.

ANGLE MOUMT TRACK FASTEMED
TO) 2x6 §2 OR BETTER

YELLOW PINE JAME WITH

ONE 5/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

ANCHOR. WASHER INCL'D.

/ 3" MIN. EDGE DISTANCE| «
BRACKET MOUNT OR COMTINUOUS

CONCRETE _JAMBS &4
2,000 PSI MIN
COMCRETE

1,/4%1=1,/2" MIN,
EMBED SELF-TAPPING
CONCRETE ANCHOR.

1" WASHER REQ'D.

17" MAX, O.C.

TO SECURE AMGLE

TO CONCRETE.

3" MIN. EDGE DISTANCE

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

1STEEL JAMBSE'
SELF-TAPPING SCREWS

3716 MIN. STEEL
JAMB

1747378
MAT -F1
WTH COMCRETE, BuT shF ThPRING
SEN'FGTT F'EEPWL?EEJER isrﬁﬁi:.éx o.c
APPIN W, . O.C.
: TO SECURE
ANGLE TO
STEEL JAMS.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO STEEL JAMB.

WOooD JAMBS

381727 MIN.
/— EMBED LAG SCREW.

1—1{-"3' WASHER
REQ'D. 24" MAX.
Q.C. TO SECURE
2x6 WOOD JAMB
TO WOOD
STRUCTURE.
C'SINK IF NEEDED.

SRACKET MOUNT OR CONTINUOUS
ANGLE MOUNT TRACK FASTEMED
TO 2+6 §2 OR BETTER

YELLOW PINE JAME WITH

ONE 5,/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

MARK WESTERFIELD, P.E.
FLORIDA P.E. §48495, NC P.E. #23B832,
TEXAS P.E. #91513

THE DESIGN OF THE
SUPPORTING STRUCTURAL
ELEMEMTS IS THE RESPONSIBILITY
OF THE BUILDING ENGINEER OR 4
ARCHITECT OF RECORD. b

SECTION 1 ~ 1/]—

BOTTOM SECTIOM REINFORCED WITH
TEMPERED ALUMINUM EXTRUSION WITH
INTEGRAL EEFMNERSFDR FLEXIBLE

Gﬁx

..;. " TEST LOADS

", DESIGN LOADS: +25 & -25 P.S.F.
+37.5 & -37.5 P.SF.

i
o] it BB

MIEW "D

4" TALL C—CHAMNNEL
16 GA. GALV. STEEL
MIN YIELD STRENGTH SOKSI

BOTTOM ROLLER BRACKET DF 13 GA.
MIN. GALW. STEEL, FASTENED WITH (42
B4 X 5/8° LG SHT. MTL. SCREWS

[MANUF ACTURING PRDDUCT CODE:

MPC: C-PAN-1E448

3

V' N

:’u nless Stoled Otherfise ’l}l 8585 Duke Bﬂmemsrf.
- TOLERANCES™. | uumisdOPAY 155 5% s
CLOPAY CORP. r | '..‘ ':‘,{g - * 511-::;. 'quif?'lq Pmdv,:;cls Company Fox No. 513-770-4853
ALL RIGHTS RESERVED. -ﬂﬂ;.;.ti,ﬂﬁf?' _____ 'DESCRIPTIOM: COMMERCIAL RIBBED DOOR, +/— 25 PSF DESIGN LOAD
"c?a 0333 =3 iﬁ%% % DRAWN ZBY: RJK DATE: 4/04/99 | SCALE: NOTED  |pwe.
: [i?(ggeesf =172 GIEHECKED BY: Mww | DATE: 4,/99 SHEET 1 OF 1 [SIZE
;h'r.d frigls 1e¢ {Hheﬁns ‘1;.’ 2 :
rojection "i.s RS ae I WerEs{ OWG NO.: 101886 VER: TOI
TV AT L T |
2 1




